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Guess Paper – 2008
Class – X

Subject - Mathematics

GRADE 10                                                     



MARKS: 80   

Time allowed: 3 hours       

General Instructions:-

· All questions are compulsory

· The question paper consists of 25 question divided into three sections A, B and C. Section A contains 7 question of  2 marks each,  Section B is 12 questions of 3 marks each and Section C is of  6 questions of 5 marks each..

· There is no overall choice. However internal choice has been provided in two questions of two marks each, two questions of three  marks each and two questions of  five marks each

· Write the serial number of the question before attempting it.

· In question on construction, the drawing should be neat and exactly as per the given measurements

· Use of calculators is not permitted. However you may ask for mathematical tables.

Section A

1. Solve    for  [image: image42.png]
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2.  Simplify  
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3. Solve for 
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4. If 7 times the 7th term of an AP is equal to 11 times its 11th term, Show that the 18th tem of the A.P is zero.

OR

         Find the sum of the first 24 terms of the sequence whose 
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 term is given by 
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In the given figure AB((DE and BD((EF, prove that  
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6. A washing machine is available at Rs 9,600 cash or for Rs 2,100 cash down payment followed by five monthly instalments of Rs1, 545 each. Find the rate of interest charged under instalment plan.
7. A bag contains 7 red balls, 8 white balls and 
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 black balls. If the probability of getting a black ball is 
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, find
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   also find the probability of getting a non-red ball.  
OR
         Find the probability of getting 53 Mondays in a non-leap year.   


Section B

8. Solve the system of linear equations graphically
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  Also find the vertices of the triangle formed by the above two lines and 
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9. Find the  values of  
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 so that the polynomials 
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10. A .TV set is available for Rs 19,650 cash payment or for Rs 3,100 cash down payment and three equal annual instalments. If the shopkeeper charges interest at the rate of 10% per annum compounded annually, calculate the amount of each instalment.

11. Find the sum of all three digits numbers which leave the remainder 2 , when divided by 7

12. The side of a square exceeds the side of another square by 4 cm and the sum of the areas of the two squares is 400 sq.cm. Find the dimensions of the square.
OR

Two trains leave a railway station at the same time. The first train travels due West and the second due North. The first train travels 5 km/h faster than the second. If after two hours they are 50 km apart, find the average speed of the each train.
13. Construct a quadrilateral ABCD such that AB = 3.2cm , AD = 3.7 cm, DB = 4.2 cm, BC =  4.5 cm, 
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 Construct a quadrilateral A`BC`D` similar to  quadrilateral ABCD so that diagonal D`B is of length = 5.3 cm. 

14. [image: image38.png]cbseﬁguess



In figure two circles intersect at points A and B. A straight line through A intersects the circles at P and Q. If tangents at P and Q intersect at T. prove that P, B, Q, T are concyclic.

15. A cylindrical bucket 32cm high and 9 cm of radius of the base is filled with sand. The bucket is emptied on the ground and a conical heap of sand is formed. If the height of the conical heap is 24cm. find the radius and slant height of the heap.
16. Prove that  
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OR

Without using tables, evaluate  
[image: image23.wmf]0

2

2

0

2

0

2

0

0

50

sin

40

sin

50

cos

40

cos

)

50

sin(

)

40

cos(

+

°

+

+

-

-

+

q

q


17. Show that the line joining the points (4, 3) and (8, 6) passes through the origin.
18. The line joining the points (2, 2)and (8 -1)is trisected at the points P and Q. If the point  P lies on the line 
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  find the value of
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The given pie chart represents the expenditure of a family on different items. A, B, C, D and E. Using the angles given, find the percentage of expenditure on these items. If the total  expenditure of the family is  Rs 27,000  answer the following

i) What is the expenditure on Food?

ii) How much more money is spent on education than on rent?

Section C

20. Find the mean age from the following data.

	Age in years
	Below 10
	Below 20
	Below 30
	Below 40
	Below 50
	Below 60
	Below 70

	Number of Students
	5
	9
	17
	25
	34
	45
	50


21. Prove that ratio of the areas of two similar triangles is equal to the ratio of the squares on the corresponding sides.

Using the above theorem prove that area of an equilateral triangle on hypotenuse of a right triangle is equal to the sum of the areas of equilateral triangles on the other two sides.
OR

Prove that in a triangle, the line drawn parallel to one side to intersect the other two sides in distinct points, divides the two sides in the same ratio.

Using the above result, prove the following.

Diagonals of trapezium divide each other proportionally. 

22. Prove that the sum of the opposite angles of each pair of a cyclic quadrilateral is supplementary. .

Using the above result solve for  
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  and 
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In a cyclic quadrilateral ABCD, 
[image: image28.wmf],
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23. A round balloon of radius 
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 subtends an angle 
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 at the eye of the observer while the angle of elevation of its centre is
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. Prove that the height of the centre of the balloon is 
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OR

A man standing on the deck of a ship, which is 10 m above water level, observes the angle of elevation of the top of a hill as 
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and the angle of depression of the base of the hill as 
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. Calculate the distance of the hill from the ship and the height of the hill.
24. A solid is in the form of a right circular cone mounted on a hemisphere. The radius of the hemisphere is 2.1 cm, and the height of the cone is 4 cm. The solid is placed in a cylindrical tub, full of water, in such a way that the whole solid is submerged in water. If the radius of the cylindrical tub is 5 cm and its height is 9.8 cm, find the volume of the water left in the cylindrical tub.

25. Mr. Alisha’s monthly salary is Rs 32,500(exclusive of H.R.A) He contributes Rs 7000 per month towards GPF and Rs 20,000 per annum  in PPF. He donates Rs20,000 to a school and gets a relief of 50% on the donation. If he has been paying Rs 2800 per month as income tax for the first 11 months of the year, find the liability  for last month of the year. 
Use the following for calculating the income tax:

	a) Savings :                

	100% exemption for savings upto 1,00,000 



	b) Rate of income tax
	

	         Slab
	Income tax

	i) Upto  Rs 100,000
	No tax


	ii) From Rs 100,001 to Rs 1,50,000
	10% of the amount exceeding Rs 100,000

	iii) From 150,001 to Rs 2,50,000
	5000 + 20% of the amount exceeding  Rs 150,000

	iv) Above Rs 250,000
	Rs 25,000 + 30% of the amount exceeding Rs 250,000

	 c)  Education Cess
	2% of the tax payable.

	 d) Special rebate  for women
	Rs 5000 in tax payable
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